Name: Primary 5-a-day Bronze
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This jug has water in it.

——1000ml

—— 800ml

—— 600ml

—— 400ml

—T 200ml

litres of water out of

Paris pours 140 mi
this jug.

How much water will be left in the jug?

Paris then pours 85 mil
into the jug.

How much water will now be in the jug?

Erin needs 17 cupcakes
There are four cupcakes in a box.

How many boxes does Erin need to buy?
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This jug has water in it.

——1000ml
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—T 200ml

litres of water out of

Paris pours 140 mi
this jug.

How much water will be left in the jug?

Paris then pours 85 millilitres of water

into the jug.

How much water will now be in the jug?

Erin needs 17 cupcakes
There are four cupcakes in a box.

How many boxes does Erin need to buy?
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